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1. Basic Tehminolegy

< Has more than one possible outcomes.

< Itis impossible to predict any outcome in advance,

=

Tossing a coin Rolling a dice Drawing a card from a

well-shuffled deck

< A possible result of an experimerit or a Trial

o Examples:

Q

D Emmples:

Tuwo outcomes for coin toss:
Six outcomes for volling a dice: 1,2, 3,4, 5, 6 Heads, Tails

< A set of one or more oucomes for a random experimerit
X Exownple:

«  (etting a tail when a coin is tossed,

«  (etting an odd number when a dice is rolled,
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Types of Probalbility
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Expewimen‘(al Theoretical

pv‘obo\bih‘tg pwobabill‘tg

& 9 1 Theopetical pv‘obabill‘tg

Number of favourable outcomes

P(E) =

Total number of possible outcomes

Uhen a coin is tossed:

< The probalbility of getting a head is %

< The probalbility of gétting a tail is %

The probability P(E) of an everit will be a number such that
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————= 3. Types of Lvenls ——=

Elemen‘(awy Everit

< Has as only one outcome,

< Sum of all the elemeritary evertts for an experimert = 1

Equally likely Everit

< When allthe outcomes of an experimerit have the same

chance of occurring,

o Example: Tossing a coin
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Impossible Sure everits
everils
More unlikely More likely
Impossible Evert Sure / Certtaiin Evert
< P(E)=1,

< P(E)=0. |
oo Example: Ge‘(ﬁng a 7 when volling a die i
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o Emmple: Christmas being celebrdted
onthe 25% of Decemben
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Complemen‘(av‘g Everits

O
3. Types of Lvents —

< [F T dendtes happering of an evertt, then E dendtes NOT
happening of that evert,

< E and E are said 10 be complemeritary everts,

% E isthe complemert of E,

olelall#lz]:

For an evertt of getting a number less than four on rolling a dice:
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Number of favourable outcomes

Total number of possible outcomes

| PE)=

- = pv‘obabill‘tg of an evell eSS S ST {;5

0< P(E) < 1 i
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